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Losungen  Fachlehrer: W. Zimmer

1% -2b-2h+3b+2b+b+2b+3h-3b = 3b+h

2~ 4fi-fi+fi2+2fi-3f3+3fi+fi+4fi2 = 9fi+5fi2-3f3

35 —d+2d3g2-dg—2dzg3:§?g+3d-4d3gz+2dg = 2d—2d392+qg—2d2g3—d3g

4. —2a2g2+4a4g2-2ag—a3g4+a4g3—3&2g2+2a4g2+3ag = -5a2g2+6a4g2+ag—a3g4+a4g3

5. c2(1 + 3¢) = 92 i_ﬁgf_

6. S W Y T

v n(3 - Sm) = 3k°m - Skom>

8 a2d3(— Sazd2 +ad - 6 + 3d) = - 5a4d5 + a3d4 - 6a2d3 + 3a2d
9. (3@ + 2b) (- 3d - 3b) = - =y - ‘
10. (= k2 + 2ik)(2k2 - i2k) = = 2k4 + 4ik3 + 12k3 - 2i3k2
13- (4ae2 + ae)(a3 + 232) = _Aaigz + aﬁg o+ Bagf + Zagf_
12. (- 32 + #n2) (- £5h - by = 3g%n - £ 4 aem? - °
13. (- CE e -0+ tut) = ot - Gk =20t + 028
14. (e - a)2 = e2 - 2ae + a

15, 5b+b3c2—4b6+3b4c3—6c2+5b—2b3c2--b6 = 10b—b3c2-5b6+3b403-6c2

16. azc3(ac + 5¢ -1 - 2ac4) = _33c4 + Sazc4 - a2c3 - 233c7
3 .(— 2c2f - 02f3)(6c4f3 = 3c6) = = 12c6f4 - 6c6f6 + 6c8f + 3c8




